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EHT 1TH 32 21 27 48
2TH 5 4 6 10

R ATET 72 60 70 130
finlE 0 0 0 0
JEET 1TH 71 51 55 106
2TH 40 27 35 62

3TH 119 89| 118 207

P ET 1TH 0 0 0 0
2TH 1 1 0 1

S ET 1TH 60 36 48 84
2TH 94 71 89 160

3TH 87 73 66 139

K HT 125 104| 106 210
X R EET 1TH 210 174 189 363
2TH 142 108 131 239

ARHET 1TH 162 85 134 219
2TH 59 22 64 86

3TH 189 132| 168 300

KIEHET 1TH 105 78 91 169
2TH 67 55 65 120

3TH 136 118 125 243

&5 FHT 36 22 37 59
Bty A ET 40 32 31 63
¥A R BT 1TH 48 45 45 90
2TH 39 30 33 63

3TH 64 37 58 95

4= A BT 1TH 27 27 25 52
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3TH 141 116 138 254
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RFEER F16HE| 0 0 0 0
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T 5 HET 1TH 107 87 97 184
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JRARET 1TH 139 117| 126 243
2TH 88 92 78 170
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FH FHT1 E1HhE| 27 19 25 44
24 E| 69 52 66 118

£ 3t | 175 142| 145 287

FAHE| 208 184 183 367

E5HhE| 240 241| 216 457

F6HhE| 121 120 145 265

E7HE 206 214| 230 444

F8HhE| 235 237| 250 487

FEoHhE| 597 591| 630 1,221

F 10 E| 976 1,011 1,054 2,065

R EEIE 5 2 4 6
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F7 H AT 1TH 195 170| 187 357
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3TH 130 104| 142 246
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3TH 128 112| 133 245
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2TH 66 55 63 118
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#B1% FEHT &1 E| 4 6 6 12
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£ 3t | 22 21 16 37
FAHE| 7 4 7 11
E5HhE| 67 69 76 145
F6HhE| 8 4 8 12
E7HE| 96 80 71 151
F8HhE| 48 37 55 92
FE10#E] 0 0 0 0
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E12hE| 47 53 45 98
F 13 E 191 141 169 310
14| 0 0 0 0
E15HE| 0 0 0 0
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E1THE] 0 0 0 0
518 E| 0 0 0 0
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F21HE| 3 2 5 7
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F 23 E| 18 12 18 30
E 24 E| 2 1 2 3
F 25 E| 33 31 34 65
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F27HE| 2 3 2 5
528 E| 97 104 91 195
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i 7 BT E1HhE| 0 0 0 0
E2HE| 102 110 92 202
£ 3 E| 26 24 23 47
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R ET E 1 E| 19 14 7 21
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F 10 E| 43 37 48 85
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2TH 71 62 62 124
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5TH 48 47 50 97
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FoHE| 19 19 18 37
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FA2Hh E| 11 11 10 21
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F14H#hE| 3 9 5 14
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F17HE 63 68 74 142
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At 1,573 1,584 1,669 3,253
SM6E2 ARIRAE
- AR
wast (" TE T & T 3
15,644| 14,235(15,527[ 29,762




